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All questions cary equal marks.
Orly one answer is to ke given for each question,
If more than one answers are marked, it would be freated as Wreng answer,
Each question has four alternative responses marked serially as 1, 2,73, 4. You have to darken the correct

LSS INPN

NE: oo

There will be no negative marking for wrong answer.

The candidate shouid ensure that Roil Number, Subject Code and Series Code on the Question Paper

Booklet and Answer Sheet must be same after opening the envelopes, In case they are different, a

candidate must obtain another Guestion Paper of the same sefies. Candidate himself shali ha responsible

for ensuring this. .

8. Mobile Phone or any other electronic gadget in the examination hall is sirictly prohibited, A candidate found
with any of such objecticnable material with himfer will be strictly dealt as per rufes,

9. The candidate wili be allowed to carry the carbon print-out of OMR Response Sheet with them on conclusion
of the examination.

10. If there is any sort of ambiguity/mistake either of printing or fartual nature then out of Mindi angd English
Version of the question, the English Version wil be treated as standard, -

Warming = If a candidate i i i i

1. o 9 & wwe A o

2 o Ut ¥ s wam ¥

3. mnﬁmm@-é’rwé’rﬁw

4, qasﬁm&mm%%ﬂ%a&n*fu%%maﬁmmmmr

5. mnﬁ%aﬁémmﬁ&ﬁ%ﬁﬁ?mw: 1,2,3,4&%%w%|amaﬁaﬁmaﬁnﬁ
& ERT w5 |

6. *mm%mmdﬁﬁﬁmml .

7. qﬁ—wgﬁamqéww%ﬁwﬂ;ﬁ%ﬂa@a%wvﬂwﬁusgﬁﬁaamﬁﬁsmgﬁ—qﬂ
qammwwmﬂm,ﬁwmqﬁqﬁgﬁamaﬁzﬂﬂwﬂﬁm%|mﬁ‘aﬂéﬁ=rms’ra"1

2, ﬁmﬁawﬁ?mwsﬁ@ﬁmﬁamwﬁaﬂﬁaﬁmmaﬁaﬁmﬁﬁmmﬁ%wmﬁiaﬁv&l
mm%mmmmmﬁmmzﬁm;
9, maﬁmmammaﬁﬁwqﬂiﬁqﬁimﬁmuﬂﬁﬂm%r
10.t:ftf?ﬂ?ruﬂfff&whwzﬁrmﬁmmawmm?ﬁgﬁﬁahﬁ&;i%ﬁﬁamaﬁaﬂwfm
it ®IFC W e
ﬁﬁﬁ?ﬁ:maﬂémeﬁmmmm%mmm%mﬁm@awﬁm%a“ranamreﬁ?s
ﬁa@gﬁmﬁmaﬁaﬁaﬁmaﬁhmm.ﬁi(ﬁﬁmmﬁa&ﬂwm)ﬂ&m, 1992 % Prm
3&5?@3@531%}2}%vﬁﬁlmuﬁﬂ@n@m&ﬁﬂﬁﬂﬁmﬁzﬁ%mﬁaﬁmaﬁmvﬂmﬂﬁ

(VNN 1Coned...

08 /ENVRSCI33_A) 1

QQQQOOOOObO;avav




(.
w

NRRNc0e

3y AR
08/ ENVRSCI33_A] 2

Biosphere includes :

(1) h_hydrosphere and lithosphere only
(2) atmosphere and hydrosphere only
(3) lithosphere and atmosphere only

(4) atmosphere, hydrosphere and lithosphere
Srese o giRfea ¥

(1) HI0 ST qo] WeErs

(2) thuw IRgHESH U STAHSA

() daw WEHsd a9l dgHs

(4) IgTSH, SEHSH T WEISH

In the atmosphere next to mesosphere is :

(1) thermosphere (2) troposphere
(3) exosphere (4) stratosphere
argEE ¥ NemHew % AH SN §

(1)  epiedER @) dwiew

(3) s (4) TS

Which of the following is a physical factor of envirénment ?
(1) soil . (2) light

(3) geomagnetism C)) .a_tmospheric gases
Pratifaa & ¥ SrF—91 TRD & ARE =S ¥ 7

(1) W1 (2) W

(4) e TE
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4 Which of the following is a combination of inorganic and organic natural

resources ?

(1) coal (2) soil

(3) humus (4) minerals

Preffiaa & & - o qo S TR dar @ ey 2
(1) @ =@

]
]
3
8
8 :
S
&
o2

(3) TguW (4) @

Lid
5 Which of the following is not an example of renewable natural resources ?

(1)  forests | (2) microorganisms

@) petroleum @)  water

Frfafad & @ @-a1 THheolT THhe TER B U SREW T 3 7
(1) &7 (2) gawsir

() Afau ' ONEC

6 The equilibrium volume for the reaction, £Cls ===PCl+Cl) isincreased

to 16 times, then the quantity of dissociation will become
(1) half (2) one fourth

(3) four times (4) two times

afe aifufpan, PCls===PCh+Clh & qra SMET B FEHL 16 AT &Y
femn =y, @ fyase B A & ol

(1) o 2) ww g
(@) =X T @) @R
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The hydrocarbon, in which one carbon atom is such that it is Jinked with
carbon atoms oaly is

(1} 2-butene

(2) 2-methyl propane

(3) 3-methyl - 1 - butene

(4) propene

TRSHEA, R U@ HET T YEr ¥ S haw BT A § 991 ¥
1) 2% o

(2) 2-°fhm Wi

(3) 3@ -1-sE

@) W |

At 298 K solubility of BaSO4 in water is 1 1x10 ¥ mof 7! At this
temperature the solubility product of BaSO, will be

(1) 22 x 16 mol L1

(2) 2.2 x 108 mol L

(3) 1.21 x 108 mol LI

4y 1.21 x 10716 mol £

298 K WY BaSO, @ wF # gewsieat 1.1x107 mol L} ¥ 9% T 0¥
BaSQ4 % SERA & gassie i

(1) 2.2 x 109 mol L}

(2) 2.2 % 108 mol L1
(3) 1.21 x 108 mol L1

(4) 1.21 x 10-16 mol L
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9 Which of the following is not a secondary pollutant, responsible for smog
formation ?

(1) NO,
(2) O

() RCHO

QQQQOO'ooooobaoaa

@) O
ﬁﬁ%ﬁﬁﬁ@rﬂ%%m@ﬁnﬁﬂfﬂ%ﬁﬂwzﬁmﬁmﬁﬁ% 2
(1) NO,

@) O

@) RCHO-

4 O,

10 Ozone hole means that the thickness of ozone layer in the atmosphere has
become

() 250 DU

(2) Less than 200 DU

(3)  Zero Dobson unit

(4) 150 DU

AT B Bl T ¥ B ArgHed F ot W o ol @ v 3
(1) 250 DU

(2) 200DU T B

(3) s slaEa za

(4) 150 DU
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11 Chemical pollution of water does not change its
(1) acdity |
(2) alkalinity
(3) quantity of dissolved oxygen

(4) chemical composition

i & Tt Tguer & aRafia <& 9, s
(1) owaan

(2) &Hd

G) R it & =

(4) Tamte waew

12 The major component of soil with lowest volumetric composition is

(1) organic matter (2) soil water

(3) soil air (4) mineral matter

T & THW e N T SIS YEeT 9T ¥
(1) @t verf (2) T W
(3) Ay @ @@= yerf

—
78]
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(1) %aw pH | (2) ¥aw am
(3) pH & 1w Y (4) wWeEH B AR
08 / ENVRSCI33_A] 6

Iron containing coagulants are not sensitive to change in
(1) pH only (2) temperature only
(3) both pH and temperature  (4) amount of coagulant
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The number of cyclic rings per molecule of DDT is

M 4 @ 3
By 2 @ 1
R F ol o1y v et o w2
(1) 4 2 3
G) 2 @) 1

In India the major source of hydrocarbon air pellutant is
(1)  Jet aeroplanes

(2) Automobiles

(3) Plants

4) Sewage

TR ERgreE Ay T B TG G ¥

(1) s argawr

(2) T A

() 49

OBEUSLCE

The mobile phase in paper chromatography is

(1) paper (2) liquid
(3) gas - () solid
BT RIS F RN wreren dy 2
() wr (2) =3
3) T 4 g

RNR 00000
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17 Which of the following is not an example of a fluorescent substance ?

(1)
2
(3)
(%)

uraninm
petroleum
eosin

rock salt

Prefafan & ¥ S U6 gaa garef H I A ¥ 2

(D
)
)

)

AR
Ugtferam
Bl
wivsT T

18  Amrita Devi Memorial Award is given by Rajasthan Government in the
field of '

(b
2
3)
4

Environment Education
Forestry
Water conservation

Pollution control

(1) gavaeer B

(2) @t

() T @

(4) vyt frEE
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19 Which of the following is not an impact of deforestation 7
(1) Decrease in water retention
(2) Forest fire
(3) Fiood
(4) Silting of dams
Fretiefae & & - e o W T R 2
(1) o @uR §
(2) wiw @Y e
(3) =mw®

(@) eﬁsfr‘ifrnaams’m

20  Limestone is used
(1) for neutralizing acidic soil
(2) - for producing fertilizers
(3) in steel industry -

(4)- in textile industry

Y F TR B STET o ¥

(1) o Y@ & Sardfem g
(2) SE@ P IURT §

3) <wsamd

(4) wuUsI wuwT §
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21  The nitrogen bases which pair with two hydrogen bonds are

(1) adenine and thymine (2) adenine and cytocine

(3) thymine and uracil (4) cytosine and adenine

AR A O A TESST g9 % WY P 1§

(1) U9 T gie 2) U G R

(3) o wE i (4) ReERF qo &
22 India's only wild ape is o

(1) Hanuman Langur
(2) Rheses macaque
(3) Hoolock gibbon

(4) Lion tailed macaque

W W TH A ST B (@) ¥
(1) ¥FIF &

2) Juw wEw

(3) e frs

(4) T < TEh

23  One of the following scientists who got the Nobel Prize for the study of
Ozone depletion -

(1) Peter Warnek (2) Linus Pauling |
(3) Sherwood Rowland (4)y William Mitsch

frefiiaa ¥ A fre w Afe &Y o e & s & e A

(1) WX IS (2) e O
(3) 9Xgs v (4) fafeam fam
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24 The Biological Diversity Act was passed in the parliament in the year

() 2001 (2) 2002

(3) 2003 4) 2004

ﬁﬁmﬂrﬁwwmmﬁﬁea&ﬁmﬂhﬁﬁww?

(1) 2001 (2) 2002

(3) 2003 (4) 2004

25 In a lake, the chief producing region is .
(1) Littoral zone
(2) Profundal zone
(3) Limnetic zone
(4) Benthic zone -
W B Y& SARE &9 ¥
(1) dwi=el &9
2) TR &=
() e &
@) rus =

| 26 Successful radioactive waste remediating plant is
(1) (Sunflower) Helianthus (2) Phlox
(3) Verbina © (4) Tberis
el sfire &1 wew SR HOY O o &
(1) zfocag (2) W
3) afdAr @ o
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27  Wetland ecosystem dominated by trees is called

(1) Savannah

(3) Steppe

(2) Swamp

(4) Taiga

ot ahEs ,Eﬁuw@m@fﬁa’f%wﬁﬂé‘rﬂ%ﬁm%

(1) @ar

(3) =

28 Petro-crop plantation refers to

() <wEd

4y Tm

(1) Planting fast growing plants

(2) Planting hydrocarbon rich plants

(3) Planting high transpiring plants

(4) Recycling of waste

Se-haw quur HarHag §

(1) I ¥ Rreple o9 @@ arRd & qwT
3] ms@ima‘iwﬁqﬁﬁww
(3) S TSI B i UGl 6T 90

(4) orfiTe w1 TR

[
-]

(1) Osmotrophs

(3) Autotrophs

) qrECoraer
(3) Ul

NRARN0cocoee
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@ Phagotrophs

(4) Decomposers

3 g 5 S B SiRiEY B UEN B o

(2) W&

4y S9uTh

12

Organisms which ingest food and digest it inside their body are

RN TComed--

PR X
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30 Permissible limit of Fluoride in drinking water is

(1) 1.5 ppm (2 2.5 ppm
(3) 4 ppm “ 2 ppm
T ¥ viitEs o) AT T %

(1) 15 ppm * @ 2.5 ppm
() 4 ppm (4) 2 ppm

31  Plankton cells are autotrophic. This means they
(1) are self feeding
(2) require sunlight
(3) require normal salinity
(4)  reproduce asexually .
Wﬁﬁmwﬂﬁaaﬂ%mm&%%%
(1) w3
) % y¥ B v &
@) ¥ wER v W enavaa & |
() & ot yorT W ¥

32 Which is the most popular biogas production mode] of India ?

(1)  Pragati model (@) KVIC model
(3) Deenbandhu mode] (4)  Shakti-Surbhi model
ﬁrﬂﬁ%rﬁaaﬁ@raﬁﬂ-mwmamﬁﬁmwﬁsawﬁ%m&a% ?
(1) iy Afew @ ¥ N o & niew

(3) <y wAtsw (4) gy giew
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34
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Pheromones are synthetic chemicals used

(1) to enhance cross pollination in vegetation
(2) to attract msects to kill them

(3) to regulate growth

(4) none of these

W@gﬁnwﬁwwﬁ%ﬁﬂmmﬁmﬁwﬁaﬁﬁ%wm
S & 7

(1) e F T IRl & ST o
(2) W B omRid T I% AT

3) Fhe ® Frif wT

@) woded A A B W

The study of an individual and its relationship to the environment is
calted '

(1) autecology

(2) synecology

(3) ecosystem

(4) biodiversity

=il TE Su% WA ¥ SREEE W6l T T FEAT & ?
(1) iR '

2) Gt
Gy wiReRE &
@) S fufae |
(EHI (Comed...
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37

Zooplankton that spend.only a portion of their lives as planktons are called
(1) Holoplankton (2) Meroplankton

(3) Benthoplankton (4) Ctenoplankton

- Wl St s Sta dy tifyes wm € s % ww ¥ oY ¥ 98 w®y

HEAR & 7
(1) yorwam (2) siyiera®m
(3) Frawwas (4) Fiam

off
The amount of heat required to evaporate one gram of water at 50°C is
(1) 540 Calories (2) 590 Calories
(3) 568.4 Calories (4) 100 Calories

T M 9 @l 50°C T 9X 91T & & fig fea o=t 9 aasaswan
TR E ?

(1) 540 &wrl @) 590 FHErd
(3) 568.4 HWA (4) 100 =y

The river which causes tremendous floods in the state of Assam is the
(I) Ganga (2) Gomati

| (3) Brahmaputra ' _(4) Yamuna

frafaflaa & 4 B9-0 X & B omm vy ¥ il 9@ e ® 7
(1) =m (2) Tl

(3) e (4) =gw
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38 Which comes first in Environmental Impact Assessment ?

(1) Screening

(2) Scoping

(3) Environmental Impact Statement
(4) Public Hearing

qoiaR wa Sfieed ¥ wduaw g 7
(1) sk

(2) wHifT

) wafexw g fraeoh

@) ST gTEE

39 Deforestation refers to
(1) Planting of trees
(2) Cultivation of crops
(3) Dissappearance of forests

(4) Enriching forest wealth
o e & ey fred ¥ 7
(1) U @

(2) wEH @ Gl

@) W F AE B

@ == dufa 7 wyfe

08 / ENVRSCI33_A] 1
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40 Which of the following types of seismic waves arrive at a seismograph first ?
(1) P waves
(2) S waves
(3} Surface waves

(4)  All of these waves arrive at the same time

Freaferfed & & @8 wBR A gl @t wdve g A U o & 2
(1) & o

@) uw e

(3) W& Wt

@) SwdE W Wt o e o &

41  Who developed the procedure used to measure the size of an earthquake ?

(1) Charles Francis Richter (2) James Hutton

(3) Charles Darwin . (4) Henri Darcy |
Frafufad & & foe s % o @) wod o) o PR o 2
(1) = wifeg Raex (2) - g

(3) e ERfe @ &0 srd

42 What is an aquifer ?
(1) A rock layer that forces water to the surface
(2) A special kind of spring
(3) A perched water table
@ A wéter transmitting rock layer
Ay T ?
() T U S B T W W B e a0 ) g @
(2) uw fa9y weBre @ e
(3) W& WK
(4) T AR BT AR e X
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43 What does the abbreviation 'GIS' stand for ?
(1) Geographical Information System
@ Geological Information System
) Geographié Interpretation System
4) Geoscien(;e Interpolation Software
R, o, wg. Pratafed ¥ § Reger dam e Wi ' R 7
(1) gl gomt o
@ i g &
3) e od Fro 5=
@) TAwlE e arFdat

44 Which one of the following pairs of forest resources are animal products ?
(1) Fibres and flosses
(2) Gums and resins
(3) Lac and wax
(4) Drugs and spices
ﬁwﬁiﬂ;aﬁﬁaﬁﬂ—maﬂwwzﬁwﬁamaﬁmm% ?
(1) wuu SEe
(2) e wd Y
(3) W& T "

@) ohwfy wd TEW

=]

08 / ENVRSCI33_A] i
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45 Which of the following remote sensing technologies uses sound ?

(1)
)
(3)
“4)

Colour infrared imaging
Thermal infrared imaging
Sonar

Microwave sensing

Pl & ¥ @—ar g3 w37 B aow Py @ wET e 2

(1)

T s whitrs

) T et R
(3) "MK

)

&1 9T "

46  Cartographers classify maps into two broad categortes, reference maps

and :

(M
@
3)
4

Topographic maps
Thematic maps
Attases

None of these

W-wﬁﬁ&w%ﬁﬁﬁaﬁwmﬁ%jﬁ%wﬁ@;

6y
(2)
)

4)

wﬁqrcra—crs‘i
AT
SURET H A HE

08 / ENVRSCI33_A]
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48
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Living vegetation appears
(1) white

(2) Dblack

(3) Dblue

(4) red

on false-colour IR images

Ghﬁaaﬂmﬁmmﬁﬁﬁﬁwmﬁﬂﬁ%ﬁﬁﬁﬁﬁ%?

(1) =@
(2) @
(3) el

(4) W«

The Komo'do dragon is a kind of
(1) Monitor Lizard

(2) lguana

(3) Chameleon

(4) Crocodile
(1) Tnfrex Ruah ¥
(2) FT ¥
) Prfe ¥

(@) T E

=

&
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49 The venom of common kraijt snake mainly affects
(1) Blood and circulatory system
(2) Bones and skeleton
(3) Nervous system
(4) Digestive systerm
Waﬁaﬁqwsﬁ%ﬁaﬁzﬁ:ﬁwﬁaaﬁumﬁaw% ?
(1) i a5 "
@ & w eRador W
B3) B dw

(4) s

30 Indian Rhino has its natural h;ame in
(1) Kaziranga National Park
(2)  Corbett National Park
(3) Sunderbans

(4) Kanha National Park
s A @ wRE s e & 2
(1)  HRRT TR s

@) @A I I

(3) gews

(4) @reEr T ST
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51 DDT is harmful from the ecological point of view mainly because it undergoes

(D)
)
€)
4)

Biotransformation
Bicaugmentation

Biomagnification

- Biodegradation

qiRaReE & e ¥ S 4. A 38 g sfers § e 9w Frafaiea
wiear § el €

¢
(2)
@)

“4)

&

EIEE R ECER]
Sfers daed=
Stfer amargw
Sierp e

52 World Summit on Sustainable Development was held in

(1)
(2)
3
@)

Johannesburg in 2002
Rio de Janeiro in 1992
Washington DC in 2000

Stockholm i 1972 -

Sy e 1% Rreer Rvat i g

(1) <efraat o 2002 %

(@ o€ sed ad 1992

@) arfiyimes 2. &L ad 2000 §

(4 weam 9 1972 o

08 / ENVRSCI33_A] 2

o]

IR Conta...



53

54

55

08/ ENVRSCI?’SHA] 23 ”mu""”"”m {Contd..,

- Which of the following are not the examples of chemical pollutants ?

(1) pesticides, sound waves
(2)  particulate matter, petroleum hydrocarbons
(3) toxins, toxic metal

() radiations, pathogen organisms
ﬁwﬁﬂmﬁﬁ_ﬂwvmﬁmmaamqm ’
(1) tiewsh, wafy a6y

) T wr, SR e 7

(3)  onfe, emRiRy eng

@) RfFw, drms iy

Particulate matter does not include

(1) Smoke (2) Lead particles
3) Grit (4 Peroxyacetyl nitrate
FN 1 ¥ wfaf @ 2

(0 g (2) = & By

(3) fire (@) wwRRiRea wge

Control of gaseons air pollutants is done with the help of

(1) spray towers (2) cyclone collectors

() electrostatic precipitators  (4)  fabric filters
WWWWWW@WWW% ?
M TR (2) WEFRIT woy
() Redga eadus (4)  Wisrp Rpwex

WNRR0c0cocoa
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The cause of temporary hardness of water are the dissolved
(1) hydrogen carbonates of Ca and Mg

(2) Dbicarbonates of Ca only

(3) bicarbonates of Mg only

(4) nitriles and nitrates

(1) Ca qu1 Mg % SEESH BEM «
(2) %ad Ca % IEHRM |

(3) %ad Mg & FEHEEL

@) TR WA T

In the treatment of sewage the process of decomposing organic waste in the
presence of air is called

(1) oxidation
(2) flocculation

(3) salvaging

(4) digestion

aifkasw & Srar § oy SuRufy & wete eufite @1 swees uima
HEERT & |

(1) T
(2)
(3) SERW

(4 drH

Y
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BOD is used for the measurement of
(1) thermal pollution (2) soil pollution

{3) sewage pollution (4) atmospheric pollution

BOD =1 sudlv frad mmow ¥g Rear sen 3

(1) =i wgum (2) &1 guo
(3) e ST (4) drgHEE wgu

Which of the following is not a natural source, of soil pollution ?
(1) plant pathogens and pests

(2) forest fire

(3) animal waste

4) decay of plants _ _
ﬁw%ﬁgﬁﬁéaﬁ#—mﬂmmwmw%ﬁaﬂﬁ% ?

(1) el & Gy A ded

(2) T B &

(3) wiag smfire

4) gl =1 e

Sound level of 85 dB to 90 dB is considered as

(1) very quiet (2) moderate

(3) wvery loud (4) painful
85 dB & 90 dB wt wWh @X Wi Wl ¥
(1) <gd sna (2) HeEH

(3) «gd FmW (@) wE5E

(NI (Coned.
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Which of the fo]iowing may have highest general standard of noise ?
(1) workshop

{(2) classroom

(3) library

(4) hospital

Preafafeg & & freer ok & wmmFr #M =@ 9= € ?

(1) eEIgT@ i

(2) HETEHS

(3) YW

(4)  STEIT

Ships operating in sea dump huge amount of garbage 1 water. This garbage
generally does not include '

(1) sewage
(2) toxic chemicals
(3) plastics

(4) radicactive waste
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63  Minimata disease is related to

(1) air pollution (2) soil pollution
(3) marine pollution (4) thermal pollution -
BFmRr 4 frad wefe 2
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64 Maximum thermal pollution out of the following is caused by
(1)  water released by thermal power plants
(2) sewage disposal in a water body
(3) industrial waste disposal in a water body

(4)  water sports
Wﬁawmmmwmm%
() 9 fem w69 g/ et T 5w

(?) U% I ¥ I S I arivee

(3) O TR W Sen WY e sl

@) e 9w

65 Which of the following is a natural source of radiation pollution ?

(1)  X-ray machine (2) nuclear test
(3)  uranium ore (4)  muclear reactor waste
ﬁﬁ%ﬂi@aﬁ@fﬂﬂ?—m%ﬂ%ﬁwwmwmmﬁ% ?
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66  Education about environment means
(1} making use of environment as a teaching aid
(2) mapping of area around us
(3) learning about trees, animals, water, bodies, etc,

{(4) controlling environmental pollution
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67 Which of the following is not an environmental issue ?
| (1) soil degradation (2) deforestation
(3) population explosion (4)  rain water harvesting
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68  The chemical having maximum contribution to global warming is
(1) carbon dioxide (2) methane
{3) chlorofluorocarbon (4) nitrous oxide
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69  Which of the following are responsible for acid rain ?
(1) oxides of carbon only
(2) oxides of nitrogen only
(3) oxides of sulphur only
(4)  oxides of nitrogen and sulphur, both
ﬁlﬁ?ﬁrﬁgaff@mwasfﬁqaﬁﬁ—mam‘mﬁ% ?
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70 Which of the following is not a cause of desertification ?
(1) scarcity of water
(2)  deforestation
(3) big dams

(4) overgrazing
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An international convention was organised by Iran at Ramsar on
(1) wetlands of mtemational importaﬁce

(2) rainwater harvesting

(3) radioactive pollution

(4) national parks

T, S H U siarosdn e st e T, R e o
(1) SITEREIg Heed & 79 Sl ud

(2) i R

(3) gl TgET

(4) I e

Which of the following is not true for chemical fertilizers ?
(1) these can be easily stored

(2) these can Be easily transported

(3) these are biodegradable

(4) these have low risk of pathogenic contamination
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A comimon feature of desert is
(1) grass fields ' (2) sand dunes

(3) small hills (4) no flora or fauna
AEWIA BT GET wayor &
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Major objective of World Wide Fund {(WWF) for nature is to
(1) establish national parks

{(2) save water bodies

(3) protect wild animals

(4)  protect endangered species and their habitats
ug&rﬂsﬁﬂlqﬁrsawrﬁaﬁw(wwmmug@@%aﬁ%
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A disease not caused by water pollution is

(1) jaundice (2) dysentery
G) silicosis (4) cholera
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